B. Listen to the podcast again and match the speakers (1-5) with the opinions (a-e).

Speaker 1 (........) a. People become less social because of social media.
Speaker 2 ( oo b. Young people spend too much time on social media.
Speaker3 (.......) c. Young people are good at using technology.
Speaker 4 ( ) . People can contact each other through social media.
Speaker5 (......) e. People should develop their computer skills.

€. Read the phrases below. Listen again and underline the phrases that the speakers use.

Stating personal opinions
| think In my opinion
| believe As | see it
| guess The way | see it
| suppose If you ask me
In my view It seems to me that

D. Listen to the second podcast. Match the speakers with the technological devices in the
pictures. (Audio 8.2)

Speaker 1 (. ) Speaker 2 ( ) Speaker 3 ( ) Speaker4 (.. .. .)

(a) (b) (c) {d)

E. Listen again and circle T for true or F for false for each statement.

1. Speaker 1 prefers the device because it has many different functions. T F
2. Speaker 2 would rather use the device since he can use social media easily. T f
3. The device is more powerful and therefore Speaker 3 would rather use it. ;| F
4. Speaker 4 prefers the device because its performance is better. F

After You Listen

Work in groups of 4. Look at activity B above. Answer the following questions. Use some
phrases from activity C to state your opinions.

Which speaker(s) do you agree with? Why?
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